Dat.-20-05-2020 Sub.-Maths

Class —II A+B Sub.Tr.:- Pragya
Ch.—5 (REVISION )
Word Problems (Addition)

1.Ramesh brought 25 chocolates bars to
shop. Suren brought 27choclates toffees.
How many chocolates are there in all?

Solution:- T O
2 5

+2 7

4 2




3.Rohit has Rs56 and Akash has Rs39. How
much money do they have altogether?

4.Ranjana has 28pens,Rekha has 45pens
and Sashi has 14 pens.How many pens are
there altogether?

5.Section 2A has 32 children, section 2B
has 17 children.How many children are
there in all three section?

6.There are 57yellow beads, 16red beads,
12blue beads in a necklace. What is the
total number of beads in the necklace?




